wzip) rrese LRSS »P.740 @EEEED »P.740 37

| HHEHS—" unus P Ele)

FRARD 7 Y EICKD DEVITTRID I ATEE,

‘ SHENS s
2 N

Serannss

A& SUS304
MHELE #E - FELE 1B
C |ssasc 2zn S (SUS304/ €Y TF >3~ h) 118

FRARMFRIL b (SCMA35. BED) 17K

SCK1015 (C
_ 4+ E (SUS304) 118 = s
| : PIZ10mm. 85 15mm. B
8 [RFEAstUssod ABRMF I (SUSXM7) 17 i mismm
BT : mm
WhnL
S
+
O
h=3
M
L/2
L+0.1 =T 1 [0.01[A
HWEICBNSHUEN FMICHTTIHEALE N,
& (F9)
AfE =] HHE it x i ;
=]
10 15 35 12.1 95 MBX 18 SCK 1015 930 | 1,260
12 15 38 121 10.5 M6x18 SCK 1215 | 930 1,260
15 15 40 12.1 12 MEx18 SCK 1515 ] 1,040 1,370
16 15 42 12.1 12 MEx18 SCK 1615 | 1,040 1,370
20 15 46 12.1 145 M6 % 20 SCK 2015 ] 1,090 | 1,640
25 15 50 12.1 16.5 M6 X 20 SCK 2515[ ] 1,200 | 1,910
30 15 56 12.1 19 M6 X 25 SCK 3015 ] 1,310 | 2,290
35 20 65 14.1 225 M6 X 35 SCK 3520[ ] 1,480 | 2,730
40 20 70 14.1 25 M6 x 35 SCK 4020[_] 1,640 3,710
50 20 85 14.1 295 M6 % 35 SCK 5020( ] 2,180 | 4,910

4
s

iwarta



